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Question Number : 1 Question Id : 70819119474 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f e is the electronic charge, c is the speed of light in free space and h is Planck’s constant, the

e -
quantity ——— —— has dimensions of :
© o dmeg hic

Options:
f (
70819163571, IM LTI

/ 1
70819163572. Ll

a7 0 )
70819163573, ML T]

—~ =]
70819163574, 1L C ]

Question Number : 1 Question Id : 70819119474 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
f (
70819163571, IM LTI

/ 1
70819163572. MLE

a7 070
70819163573, M’ L T]

1
70819163574, 1L C ]

Question Number : 2 Question Id : 70819119475 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A stone is dropped from the top of a building. When it crosses a point 5 m below the top,
another stone starts to fall from a point 25 m below the top. Both stones reach the bottom of
building simultaneously. The height of the building is :

Options :

70819163575, ¥ m

70819163576, 25 m

70819163577, 3° M

70819163578, 20 m

Question Number : 2 Question Id : 70819119475 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819163575, > m

70819163576, 25 m

70819163577, 22 M

70819163578, 20 m

Question Number : 3 Question Id : 70819119476 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Asﬂmmofmdmsh%mdnmﬁ&ﬁrdhakmgahmﬁmﬁﬂphnowﬂhamﬂmuspmdqrh
encounters an inclined plane at angle 6 and climbs upward. Assuming that it rolls without
slipping, how far up the sphere will travel ?

@W :

Options:

70819163579, 28 Sind

lj
7
5 g

70819163580, 8 Sin

IUUS
70819163581, /8 Sinb
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Question Number : 3 Question Id : 70819119476 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819163579, 28 sSind

"
1
L

70819163580, 28 Sin

lﬂna

70819163581, /8 St
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g sinb
70819163582.

Question Number : 4 Question Id : 70819119477 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The point A moves with a uniform speed along the circumference of a circle of radius 0.36 m
and covers 30° in0.1s. The perpendicular projection’P’ from A’ on the diameter MN represents

the simple harmonic motion of ‘P, The restoration force per unit mass when P touches M
will be :

Options :

70819163583, 100 N

70819163584, 287 N

70819163585, 20 N

70819163586, 029 N

Question Number : 4 Question Id : 70819119477 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L
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30° 240Q7 @9@ | MN Nid Qa6 ‘A’ § A8 96W0d (6016998) P Q 209 FIREAIG] 609
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Options :

70819163583, 100 N



70819163584, 287 N

70819163585, 20 N

70819163586, 029 N

Question Number : 5 Question Id : 70819119478 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Thermodynamic process is shown below on a P-V diagram for one mole of an ideal gas. If
V,=2V, then the ratio of temperature T,/T, is :

Pt 1(Py, V1, Ty)
1
PV§=cmmmnt

2(Py, Vo, Ty)

L 4

Options :

70819163587.

70819163588. V2

B3| =

708191635809.

-2

70819163590.



Question Number : 5 Question Id : 70819119478 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3760 24119291 SI06E9 gaIRIE W@ 6AIR 84 6aIBY 298 NIQ AR P-V 6aUIFE] 9¥IR
28 | 9@ V,=2V, , 6669 9I9AIgIa AqaIe T,/T, 6868 |

Pt 1Py, Vi, Ty)
1
PV 2 =constant

|
|
:
|
| 2(Py, Vs, Ty)
|
|
|
|
]

W

v, V, v

Options :

70819163587.

70819163588. V2

k2| =

70819163589.

70819163590, 2

Question Number : 6 Question Id : 70819119479 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  In a diatomic molecule, the rotational energy at a given temperature obeys
Maxwell's distribution.

Statement 11 :  In a diatomic molecule, the rotational energy at a given temperature equals
the translational kinetic energy for each molecule.

[n the light of the above statements, choose the correct answer from the options given below :

Options :



70819163591 Both Statement I and Statement Il are true.

70819163592, Both Statement I and Statement 1l are false.

70819163593, Statement 1 is true but Statement 11 is false.

70819163594. Statement 1 is false but Statement 1l is true.

Question Number : 6 Question Id : 70819119479 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
70819163591, 994 @& 1 9" Q@ 11 964 Z6G' |

70819163592, “e@ @w 1 99 @9 11 cl2il 26e' |

20819163503, 2@ 16 OR 26c &g @3 11 & Aay 266 |

20819163594, @8 16 @6 @g @9 11 & 964 26C |

Question Number : 7 Question Id : 70819119480 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two identical springs of spring constant ‘2k” are attached to a block of mass m and to fixed
support (see figure). When the mass is displaced from equilibrium position on either side, it
executes simple harmonic motion. The time period of oscillations of this system is :

N

2k £l ok

R —] S ——
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NN

NN

Options :

70819163595.

70819163596.

fm

AR
70819163597.

[ 111
m.—

-
70819163598. V&

Question Number : 7 Question Id : 70819119480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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70819163596.

fm

A
70819163597.

[ 111
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Question Number : 8 Question Id : 70819119481 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Y =Asin(wt + dy) is the time-displacement equation of a SHM. At t=0 the displacement of

A
the particle is Y = — and it is moving along negative x-direction. Then the initial phase

angle g will be :

Options :

w| g

70819163599.

5n
70819163600. ©

o4

70819163601.

70819163602. e

Question Number : 8 Question Id : 70819119481 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :

'_’_}l-_'l

70819163599.

g

70819163600.

o4

70819163601.

70819163602. <

Question Number : 9 Question Id : 70819119482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A d‘.arge ’q’ is placo::l at one corner of a cube as shown in t’igure. The flux of electrostatic field

-

E through the shaded area is :
AL
> Y
q
X
Options :
q
48-&'{}

70819163603.



70819163604, £0

8eo
70819163605.

24&'{}
70819163606.

Question Number : 9 Question Id : 70819119482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

q
70819163603, *5¢0

.
70819163604, €0

q

BE{}
70819163605.



q

24Eﬂ
70819163606.

Question Number : 10 Question Id : 70819119483 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An electron with kinetic energy Kl enters between parallel plates of a capacitor at an angle
‘o’ with the plates. It leaves the plates at angle "B with kinetic energy K,. Then the ratio of
kinetic energies K T K’z will be :

Options :

: cosf3

70819163607, €05

cosfp

70819163608, SN

sin ZB
cos’a

708191636009.

cos‘zﬁ

COSEE‘E

70819163610.

Question Number : 10 Question Id : 70819119483 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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|
Options :
'cnsl.%

70819163607, “9%%




cosp

70819163608, SN

sin 2[3

COs5 o

708191636009.

cos‘zlﬂ

70819163610, “°°

Question Number : 11 Question Id : 70819119484 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a ferromagnetic material, below the curie temperature, a domain is defined as :

Options :

70819163611, 2 macroscopic region with zero magnetization.

70819163612. d MAacCroscopic region with saturation magneﬂzatmn.

70819163613 a macroscopic region with randoml}f oriented magnetic dipnles.

70819163614, & Macroscopic region with consecutive magnetic dipoles oriented in opposite direction.

Question Number : 11 Question Id : 70819119484 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 70819119485 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An LCR circuit contains resistance of 110 ) and a supply of 220 V at 300 rad/s angular
frequency. If only capacitance is removed from the circuit, current lags behind the voltage by
45", If on the other hand, only inductor is removed the current leads by 45° with the applied
voltage. The rms current flowing in the circuit will be :

Options:

70819163615, 1 A

70819163616, 1.9 A

70819163617, 2 A&

70819163618, = &

Question Number : 12 Question Id : 70819119485 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



6Q8Q 2198 300 QIFAR/[s 62 665" LCR afgaea 110 () @ goeakl ¥8° 220 6RIRF 1@ 6
Q0% | U9 699 QLSR 9Q0aTY QAR R QEULNM, I9YQ 60 FRINESR 48] 457 68
Q@9 | UG 6AG6A, 6999 J6dI0eq U00ATE JRIG FREIER 9918 6210 JeARIFT CRIRGTR
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Options :

70819163615, 1 A

70819163616, 1.9 A

70819163617, 2 A&

70819163618, = &

Question Number : 13 Question Id : 70819119486 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The stopping potential for electrons emitted from a photosensitive surface illuminated by
light of wavelength 491 nm is 0.710 V. When the incident wavelength is changed to a new
value, the stopping potential is 1.43 V. The new wavelength is :

Options :

70819163619, U9 nm

70819163620, 329 nm

¥l
70819163621, 02 nm

70819163622, 400 nm

Question Number : 13 Question Id : 70819119486 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

191 nm 00& 6344 88 ¥R IR 0f QIR AT CEITY AR eI 918G ALHO
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Options :

70819163619, U9 nm

70819163620, 329 nm

3
70819163621, J02 nm

70819163622, 400 nm

Question Number : 14 Question Id : 70819119487 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the diffraction pattern obtained from the sunlight incident on a pinhole of diameter
0.1 pm. If the diameter of the pinhole is slightly increased, it will affect the diffraction pattern
such that :

Options :

70819163623. ils size increases, and I.II’LDIISIT_}-' Increases

70819163624 its size increases, but f_t'ltensit}-' decreases

70819163625. its s1ze d[’.‘CI‘DHE»ES, but LIIT.C‘I‘ISIT.}-' IMcreases

70819163626 its size decreases, and intensity decreases

Question Number : 14 Question Id : 70819119487 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819163623. YR 2R @& i 99° @1l @8 i |

20819163624, Guie diwit 9F dih @9 1961 @Fdieelng |

70819163625, M9IQ ARG KM 92 1R Y@wald |

70819163626. L6 IR DM 99° Y1906 @M |

Question Number : 15 Question Id : 70819119488 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An electron of mass m, and a proton of mass mP =1836 m,, are moving with the same speed.

A
The ratio of their de Broglie wavelength M will be :
Mproton

Options :

70819163627.

70819163628, 1836

70819163629, 1836

70819163630, 718



Question Number : 15 Question Id : 70819119488 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

°gg m, Qde 601G QERIER 9e° m, =1836 m, 93¢ Qda 601G 69167 Arle 6966a OB
@588 |
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Options :
70819163627, 1

70819163628, 1836

70819163629, 1836

70819163630, 718

Question Number : 16 Question Id : 70819119489 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The wavelength of the photon emitted by a hydrogenatom when an electron makes a transition
fromn=2ton=1 state is :

Options:

70819163631, 121.8 nm

70819163632, 1948 nm

70819163633. 490.7 nm

70819163634, 913.3 nm



Question Number : 16 Question Id : 70819119489 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

60606967 YR QERASR n=2§ n=1 4520Q WA A2, AR 65T QLR AAAIE
Qlol QAP0 6UICRE RS 69y 62a8 |

Options :

70819163631, 121.8 nm

70819163632, 194.8 nm

70819163633, 707 nm

70819163634, 913.3 nm

Question Number : 17 Question Id : 70819119490 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a message signal of frequency'f, " is amplitude modulated with a carrier signal of frequency

‘f. and radiated through an antenna, the wavelength of the corresponding signal in air is :

Options :
C

70819163635. fe = fo

L

70819163636, 1¢ = fm

L

70819163637. e

70819163638.
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Question Number : 17 Question Id : 70819119490 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4@ ‘f ' 298 958 caIf 8l 6ae f URR 88 60IF QRe TERe QP AIAF CAIGRR,
QAIEN e 66T ZI6ERI 600 FRQ @AIKN, QLADRER LYY e (FARIR) 9 oo
6@dY 629 :

Options :
C

70819163635. fe = Jm

C

70819163636. fe t fm

L

70819163637. fe

C

70819163638. fm

Question Number : 18 Question Id : 70819119491 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For extrinsic semiconductors; when doping level is increased;
Options :

Fermi-level of p-type semiconductor will go upward and Fermi-level of n-type
70819163639 semiconductors will go downward.

70819163640.



Fermi-level of p-type semiconductors will go downward and Fermi-level of n-type
semiconductor will go upward.

20819163641, Fermi-level of p and n-type semiconductors will not be affected.

Fermi-level of both p-type and n-ty pe semiconductors will go upward for T > T;; K and

downward for T < TF K, where TF is Fermi temperature.
70819163642.

Question Number : 18 Question Id : 70819119491 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Q2910 28 06QIR1 dIR 6U6RER6R 26Rds (691da) 20 9F QAIdIY,
Options :
p-68é1 26 aGQIgR TafcRen AUeg @09 98° n6gd ARAGRINR TRficRan 0R]
70819163639, 49 |

p-6961 26 RQIeIR TeficRen 099 ¥de I n6gdl UFCRRIeR TRFsReR KUY
70819163640, #0¢ |

70819163641, P-6861 9&° n-6gel P16 J0QI91a TeficRas RS ceaR@ |

@R p-6861 8 n-6g4a1 268 0AR aafieaca T > Te K i R0eq @0de 9e° T < Te K

20819163642, @ 999 8, 6aR0IER T, T6F QITAIGI 26S |

Question Number : 19 Question Id : 70819119492 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1.

List I List II
(a) Rectifier (i)  Used either for stepping up or stepping down the a.c. voltage
(b) Stabilizer (i) Used to convert a.c. voltage into d.c. voltage
(c) Transformer (i) Used to remove any ripple in the rectified output voltage
(d) Filter (iv) Used for constant output voltage even when the input voltage

or load current change
Choose the correct answer from the options given below :

Options :
70819163643, (@), (b)-(i), (o)-(iii), (d)-(iv)

20819163644, (@~ (B)-(iv), (©)-(1), (d)-(iii)

70819163645, (@)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

70819163646, @), (B)-(iv), (0)-(), (d)-(ii)

Question Number : 19 Question Id : 70819119492 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
70819163643, (@)-(i), (b)-(1), (c)-(iii), (d)-(iv)



70819163644, @)-(), (b)-(iv), (c)-(0), (d)-(iii)

70819163645, (@)-(i), (b)-(i), (c)-(iv), (d)-(iii)

20819163646, @ (ii), (b)-(iv), (c)-(1), (d)-(ii)

Question Number : 20 Question Id : 70819119493 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The truth table for the following logic circuit is :

Ae )
i
Be }
Options :
A B ¥
0 0 0
0 1 1
1 0 1
1 1 0
70819163647.
A B ¥
0 0 1
0 1 0
1 0 0
1 1 1
70819163648.

70819163649.



0 0 1
0 1 0

B Y

= ol
=
=

70819163650.

Question Number : 20 Question Id : 70819119493 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

GORYe APQ 608 9fa dIg AUAIR A& 69RE :

Aw \
|/
) v
[
B e |/
Options :
A B ¥
0 0 0
0 1 1
1 0 1
1 1 0
70819163647.

70819163648.



0 0 1
0 1 0

Physics Section B

A B L'}
0 0 1
0 1 0
1 0 1
1 1 0
70819163649.
A B Y
0 0 0
0 1 1
1 0 0
1 1 1
70819163650.
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Sub-Section Id : 7081911119

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819119494 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two particles having masses 4 g and 16 g respectively are moving with equal kinetic energies.
The ratio of the magnitudes of their linear momentum is n : 2. The value of n will
be

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819119494 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

QARES 4 gm 9 16 gm 224G Gd4 Q0F dal AAIS 09 §EER 6T RGeS | CATINETR CadIE
deAe RMIEQ AQaIe n: 2260 InQ gAY eee |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819119495 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The initial velocity v, required to project a body vertically upward from the surface of the
earth to reach a height of 10R, where R is the radius of the earth, may be described in terms

: x ;
of escape velocity v, such that o; = I= X v,. The value of x will be

v

e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819119495 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819119496 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The percentage increase in the speed of transverse waves produced in a stretched string if
the tension is increased by 4%, will be _ _%.

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819119496 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4 o4l 621 9@ JOIEA BI7 (6697) 4% QEAN, 6669 1Y ¢4 62899l ALY AR
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819119497 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

IfPxQ=0Qx P, theangle between P aﬂda is 0 (0° < 6 < 360%). The value of ‘6" will be

b

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 24 Question Id : 70819119497 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@@ PxQ=QxP, p 8 QmRIERENE0 (°<0<360) 261 Gaga  °
699 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819119498 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A reversible heat engine converts one-fourth of the heat input into work. When the
temperature of the sink is reduced by 52 K, its efficiency is doubled. The temperature in
Kelvin of the source will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819119498 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819119499 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two small spheres each of mass 10 mg are suspended from a point by threads 0.5 m long,
They are equally charged and repel each other to a distance of (.20 m. The charge on each of

, 4 an-8 T
the sphere is = 107"C. The value of ‘a’ will be

[Given g =10 ms . |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819119499 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819119500 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two identical conducting spheres with negligible volume have 2.1 nC and - 0.1 nC charges,
respectively. They are brought into contact and then separated by a distance of (.5 m. The
electrostatic force acting between the spheres is ~ X107?N.

1
Given : 4mwe,= —— Sl unit
[ " 9x 10° ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819119500 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819119501 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The poak electric field producc-d b}-‘ the radiation coming, from the 8 W bulb at a distance of

. ~ T
. X mpC Y . ; : a2 : ’
10mis E \’ 0 — . The efficiency of the bulb is 10% and it is a point source. The value of
T m "

xis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819119501 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819119502 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

A current of 6 A enters one corner P of an equilateral triangle POR having 3 wires of resistance
2 () each and leaves by the comer R. The currents i, in ampere is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819119502 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

deoi@ 2 @ 9949 gosaix el 3 § 6If g9 @ 27918 G898 POR @ 6615 6216l P 620 6 A @
4@ 9940, 6910 g69d @R e R 6RI4 60Q QIR QIRE | 9G4S, 6919 | AAIFEA
699 |

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819119503 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The wavelength of an X-ray beam is 10 A. The mass of a fictitious particle having the same
energy as that of the X-ray photons is %h kg. The value of x is _____ .
(h=Planck’s constant) |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 30 Question Id : 70819119503 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Chemistry Section A
SectionId: 708191840
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911120
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819119504 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which among, the follnwing species has unequal bond Iengi_hs ?

Options :

Xe 4
70819163661.

SiF,
70819163662.

SF
70819163663. Fy

BE,
70819163664,



Question Number : 31 Question Id : 70819119504 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
GORYe gRIf e QINIR 980 6RdY 2aaIe ?

Options :

KC‘F__1
70819163661.

SiF,
70819163662.

70819163663. s

BF,
70819163664.

Question Number : 32 Question Id : 70819119505 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solubility of Ca(OH), in water is :
[Given : The solubility product of Ca(OH), in water=>5.5x10"9]

Options:
70819163665, 1-11%10

70819163666, 1-11%10°°

=2

70819163667, 177 <10

70819163668, 1-77 x 10



Question Number : 32 Question Id : 70819119505 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
#m6a Ca(OH),e Q96196 6268,
[28: @760 Ca(OH),8 Q946 géTe 55x107 9

Options:

70819163665, 1-11*10

70819163666, 1-11 %10

I

70819163667, 1-77 * 10

70819163668, 1-77 %10

Question Number : 33 Question Id : 70819119506 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is FALSE for hydrophilic sols ?

Options :

70819163669. They do not require electrolytes for stability.
70819163670. These sols are reversible in nature.

70819163671, Lheir viscosity is of the order of that of H,O.

70819163672. The sols cannot be easily coagulated.

Question Number : 33 Question Id : 70819119506 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
36719 69w 9906 PREYE AT IR §W ?

Options :
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Question Number : 34 Question Id : 70819119507 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of bond dissociation enthalpy of halogens is :
Options :
70819163673, T2~ 2> B> I

70819163674, 12~ Bra> (> Fp

70819163675, 12~ Bra> > I

CL>F.>Br.>1I
70819163676, ~2 2~ 7127 2

Question Number : 34 Question Id : 70819119507 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



FERERALPRE 90 AVR0E IRARNTe A0 FF 2R :
Options :

70819163673, 12~ Ch> Bro> I

70819163674, 127 Bra” (> Iy

70819163675, —2” Bra> Fo> I

CL>F.>Br.>1I
70819163676, ~2 2~ 1272

Question Number : 35 Question Id : 70819119508 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The method used for the purification of Indium is :
Options :
70819163677, Van Arkel method

70819163678, duation

70819163679, Zone refining

70819163680. vapour phase refining

Question Number : 35 Question Id : 70819119508 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qdarg 98 Q@09 F76a QU9Le gaIe! :

Options:



6017 N6 galm

70819163677.

70819163678.

70819163679, ©9¢ 45¢

70819163680, ' YI¥HI %%

Question Number : 36 Question Id : 70819119509 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Water does not produce CO on reacting with :

Options :

70819163681. H,

70819163682, ©

[

70819163683.

C,H,
70819163684,

Question Number : 36 Question Id : 70819119509 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@0 RI9| 989 gERA K8 CO @ge *8aia Q1@ ?

Options :

70819163681. =y



70819163682, €

[

CO
70819163683.

C,H,
70819163684.

Question Number : 37 Question Id : 70819119510 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 :

aand 5 forms of sulphur can change reversibly between themselves with slow heating or
slow cooling.

Statement I :
At room temperature the stable crystalline form of sulphur is monoclinic sulphur.

In the light of the above statements, choose the correct answer from the options given below :

Options:
70819163685, Both Statement | and Statement 1l are true.

70819163686. Both Statement I and Statement Il are false.

70819163687 Statement [ is true but Statement 11 is false.

70819163688. Statement 1 is false but Statement 11 is true.

Question Number : 37 Question Id : 70819119510 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

QT qQ® QIO 2l y |
70819163685, Qe 1 99° @@ 11 weld 4oy |

70819163686. Qe 1 99° @9e I weld AdeY
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Question Number : 38 Question Id : 70819119511 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major components of German Silver are :

Options :

70819163689, CU- Zn and Ag

70819163690, “U- Zn and Ni

70819163691, ¢ Cuand Ag

70819163692, 2 Niand Ag



Question Number : 38 Question Id : 70819119511 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@O dREen (8 QUIYIRgLe L6 :
Options:
70819163689, 1 A1 19°A8

70819163690, - £n 9" Ni

70819163691, ©& Cu 99" Ag

70819163692, £ Ni 19" Ag

Question Number : 39 Question Id : 70819119512 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following order the given complex ions are arranged correctly with respect
to their decreasing spin only magnetic moment ?

(i) [FeFP™ (i) [CoNHz)P* () [NiCl*~ (iv) [Cu(NHy),J**
Options :
70819163693, (1) > (iif) > (iv) > (ii)

70819163694, (1) > (iil) > (i) > (iv)
70819163695, (1) > (iv) > (i) > (1

70819163696, (1) > (1) > (iii) > (iv)

Question Number : 39 Question Id : 70819119512 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GERY0 A6fQ AARERRR 6aa 90] QAT 2136 3R AR eAMa 2IPd 2RIl ARl 621RE 7
() [FeFgP~ (i) [CoNHy)P* (i) [NiClJ~ (iv) [Cu(NH,),J**

Options :

70819163693, (i) > (iii) > (iv) > (i)

70819163694, (1) > (iii) > (i) > (iv)

70819163695, (1) > (iv) > (ii) > (1

70819163696, (1) > (1) > (iii) > (iv)

Question Number : 40 Question Id : 70819119513 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :

The pH of rain water is normally ~5.6.

Statement 11 :

[f the pH of rain water drops below 5.6, it is called acid rain.

In the light of the above statements, choose the correct answer from the options given
below :

Options:
70819163697. Both Statement | and Statement 1l are true.
70819163698. Both Statement I and Statement 1l are false.

70819163699. Statement 1 is true but Statement 11 is false.

70819163700. Statement | is false but Statement 1l is true.



Question Number : 40 Question Id : 70819119513 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Qe QaF 90 QuUILILR:
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Options :
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Question Number : 41 Question Id : 70819119514 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the follnwi_ng compound is added to the sodium extract before addition of silver
nitrate for testing of halogens ?

Options:

70819163701, Hiydrochloric acid

70819163702, S0dium hydroxide

70819163703, [Vitric acid



70819163704, ‘AMmmonia

Question Number : 41 Question Id : 70819119514 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FIERIERAN TRIYI 7A6e 600 6ATRY dase FReEeR 9 gaq caRan Aduaca faan ?

Options :

70819163707, ~BEE/6R18R 24

70819163702, S9I¢ U LIRETIEE,

70819163703, 7 /EEE Tl

70819163704, - 69T

Question Number : 42 Question Id : 70819119515 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major pmduct of the ff}Hnwf_ng reaction is :

NO,
P
r o
H,50,
Options :
NO,

70819163705.



NO,

70819163706.

N,

70819163707.

NO,

70819163708.

Question Number : 42 Question Id : 70819119515 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GORYe 9oR e N QQIed ceud :

NO,
A
- -
H»50,
Options :
NO,
70819163705.
NO,
70819163706.

70819163707.



N,

NO,

70819163708.

Question Number : 43 Question Id : 70819119516 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The major product of the following reaction is :

H,/CO
Rh catalyst

Options :

CH,CH,CH,CH,CHO
708191637009. P ey

70819163710, CH3CHCH,CHO

20819163711, CHaCHCH=—CH—CHO

CH,CH,C==CH,

70819163712. CHO

Question Number : 43 Question Id : 70819119516 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



QORYe goqaiea Qe RQIed 62ed -

H,/CO
Rh catalyst

CH;CH,CH=— CH,

Options :
CH,CH,CH,CH,CHO
708191637009. e

70819163710, —H3CHCHCHO

20819163711, CH3CHCH==CH—CHO

CH,CH,C==CH,

70819163712. CHO

Question Number : 44 Question Id : 70819119517 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct sequence of reagents used in the preparation of 4-bromo-2-nitroethyl benzene
from benzene is :

Options :

0819163713, CHaCOCI/AICL, Bry/ AlBrs, HNO,/H;SO,, Zn/HCl

70819163714, CH,COCl/ AlCl,, Zn-Hg /HCI, Br,/AlBr,, HNO,/H,S0,

20819163715, Bra/ AlBry, CH,COCI/AICL, HNO,/H,S0,, Zn/HCl

20819163716, FANOs/HyS0,, Bry/ AICl, CH,COCI/ AICl,, Zn-Hg/HCI

Question Number : 44 Question Id : 70819119517 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6afing 4-9671-2-010601020R60E0 G20 Q896 Q1920 2RRARe A0R ARRNE c0ed :
Options :

20819163713. CH,COCl/ AlCl,, Br,/ AlBry, HNO,/H,50,, Zn/HCI

70819163714, CH,COCl/ AlICl,, Zn-Hg/HCI, Br,/AlBr,, HNO,/H,50,

70819163715, Bra/AlBry, CHCOCI/AICL;, HNO,/H SO, Zn/HCI

70819163716, FINO;/H,50,, Br,/AICL, CH,COCI/AICL, Zn-Hg/HCI

Question Number : 45 Question Id : 70819119518 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of acid character of the [ GIIf}wing compf}umfls is :

OH COOH COOH COOH
NO; CH,
I I 111 IV
Options :

70819163717, 1> 1I>1I>1V

70819163718, I =M >1>1V

70819163719, 1> 1>V >1

70819163720, [V > HI>11>1



Question Number : 45 Question Id : 70819119518 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
GoRge 6ddQ Q7R 2ede Q9T 6208 :

COOH COOH COOH
CHs
I I il IV

Options :

70819163717, 1> 1> 1I>1V

70819163718, I > 1 >1>1V

70819163719, 1> I >V >1

70819163720, [V > HI>11>1

Question Number : 46 Question Id : 70819119519 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is ‘X’ in the given reaction ?

CH,OH o
+ oxalic acid L X
CH,OH (major product)
Options :

70819163721.



CHO

CHO

CH,OH

70819163722. e

t|2|2'£ I,

70819163723. S

CH—OH

|
CH,
70819163724.

Question Number : 46 Question Id : 70819119519 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@8 Yogaea ‘X @4 ?

CH,OH e
| + degiAe ag 210°628sgR y

CH,OH (qeM aqR)

Options:
CHO

70819163721, HO

CH,OH

70819163722. e

T_|“'f 1,

70819163723. CHh



CH—OH

|
CH,
70819163724.

Question Number : 47 Question Id : 70819119520 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
NH, NH; NH, NH,

HNO;, H,S0,

+ +
288K

NO,

(A) (B) (C)
Correct statement about the given chemical reaction is :
Options:

+ F

70819163725, NH; group is ortho and para directive, so product (B) is not possible.

70819163726, Reaction is possible and compound (B) will be the major product.

20819163727 The reaction will form sulphonated product instead of nitration.

Reaction is possible and compound (A) will be major product.
70819163728.

Question Number : 47 Question Id : 70819119520 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



NH, NH, NH, NH,

HNO;, H,S0,
288 K

NO,
NO,
(A) (B) (©)
98 90&al Ggaen AR F90T 6PaT :
Options:

—HH il e [ Em T [ e 16 Ly 11.“};

oo cle 3 qoe oo .’\@ y @ o |
70819163726, 9¢TAC QAL " edld@ B 69ua i @l

20819163727 gogaf 9699 Jfe6s JRETIEREER RYIQ SI08 Q89 |

20819163728, ORI AAQ 1@ 6AE@ A QoY QUIQ 629 |

Question Number : 48 Question Id : 70819119521 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Carbylamine test is used to detect the presence of primary amino group in an organic

compound. Which of the following compound is formed when this test is performed with
aniline ?

Options :

NHCH;,
70819163729. :

CN
70819163730. :

70819163731.



: NC
CONH,
70819163732. :

Question Number : 48 Question Id : 70819119521 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

689 641568 QIRcAR Afien @0d® 596 Al 00 FRINFR TAIF 996 29| 69 CNId
21368 996 R RAICER FYRAYe AR 6JERE §09 6RIRN ?

Options :
NHCH;

70819163729.

70819163730. :

CN

NC

CONH,

70819163731. :

70819163732.

Question Number : 49 Question Id : 70819119522 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following is correct structure of w-anomer of maltose 7

Options :
CH,OH CH,OH
H o H H 0. H
< H
H H H H
HO OH
70819163733. HO OH HO OH
11
&
HO
70819163734,
CH,OH CH,OH
H —0_H H 0 B
H H
OH H )_|<JH H
HO OH
70819163735. H OH H  OH
CH,OH CH,OH
H .+——0. H H 0 OH
H H
H H H
HO F
OH OH HO OH
70819163736.

Question Number : 49 Question Id : 70819119522 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S0RY0 kg 69w6 AIREHIRA o- 2IEFINae A0R IS ?
Options :

70819163733.



CH,OH CH,OH

H O H H O. H
KH i
H H H H
HO OH
HO  OH HO OH
CH,OH CH,OH
H ——0O. H H . OH
H I
<L)ll H OH H
HO H
70819163734, H OH H OH
CH':IC'H. EHZDH
H 40— H H 0 H
H H
OH H OH H
HO OH
70819163735, H OH H OH
CH,OH CH,OH
H 4—o H H 0 OH
H H
H H H H
HO H
OH OH HO OH

70819163736.

Question Number : 50 Question Id : 70819119523 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :

The identification of Ni?* is carried out by dimethyl glyoxime in the presence of NH,OH.
Statement 11 :

The dimethyl glyoxime is a bidentate neutral ligand.

In the light of the above statements, choose the correct answer from the options given below :
Options :
70819163737, both Statement I and Statement II are true.



70819163738 Both Statement I and Statement 1l are false.

70819163739. Statement 1 is true but Statement 11 is false.

70819163740 Statement 1 is false but Statement 1l is true.

Question Number : 50 Question Id : 70819119523 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gr160 Q@0 @90 FuLINE :

Qe I:

ZICAIG A0 21999106 a0dden @IafiaeR geagn 9kl Nitt @ 520 @I

Qe I1:

glafiziae qeege 9@ 9991 QuUginRald

RUERI9 90 2QAIER FYRYe Fagg A0] Eedqg Qg :

Options :

20819163737, a8 1 4" @qe I aee 46!

aala A Q0 Q6 :
70819163738. “ﬁ“ﬁﬁ@ I 9% 'ER:.“@ Il wwel ey

70819163739, “5¢ 1 961 &” @qg 11 2as!

70819163740, Toe 1 TG N 9g 11 9

Chemistry Section B

Section Id : 708191841



Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911121
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819119524 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider titration of NaOH solution versus 1.25 M oxalic acid solution. At the end point
following burette readings were obtained.

(i) 45mL (i) 45 mL (i) 44 mL

(iv) 44 mL (v) 44 mL

If the volume of oxalic acid taken was 10.0 mL then the molarity of the NaOH solution is
M. (Rounded-off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819119524 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



—
Y

NaOH 9@4 @QIfl 1.25 M 2R9IRR 26a 29ade 991a Q4
ARy GQ6a FOAYHS QY6as Qbe faa

(i) 45mL (i) 45 mL (i) 44 mL
(iv) 44 mL (v) 44 mL
€9 2QeIRe age 296s 100 mL F29al 91 696R NaOH 9949 67IRIAE M

(FReen g4 2euea g8de @a)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819119525 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The unit cell of copper corresponds to a face centered cube of edge length 3.5% A with one
copper atom at each lattice point. The calculated density of copper in kg/ mlis

[Molar mass of Cu : 63.54 g ; Avogadro Number=6.022 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819119525 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



R0QA 976 696 ¥R 60Q 6996@ QY9 AF6 AWM QIR AR 63EY 3.59% A e geRiR
RITY F960 4@ AUQ 99914 SF2N | RURA S99 RAIYIRASI 9Q kg/m’ 60 6998
[?09Q 67IRIQ 999 = 63.54 g

2668 cﬁ%vf = 6,022 x 107

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819119526 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Electromagnetic radiation of wavelength 663 nm is just sufficient to ionise the atom of metal
A. The ionization energy of metal A in k] mol lig . (Rounded-off to the nearest
integer)

[h=6.63x10 M Is, ¢=3.00 x 108 ms 1, N, =6.02x 102 mol l}

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819119526 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dIg A Q 0RFIEQ ALRINNE A9 el 6ae 694 663 nma G40 eRaIe §Gad O/ e
621R21M | MIg A @ 21971304 6% k] mol~! 60 6268 (Facer gd arauica oage
aa)

[h=6.63x10"3]s, c=3.00 x10® ms ~?, N, =6.02 x 10% mol "]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819119527 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Five moles of an ideal gas at 293 K is expanded isothermally from an initial pressure of
2.1 MPa to 1.3 MPa against at constant external pressure 4.3 MPa. The heat transferred in
this processis k] mol ~ L. (Rounded-off to the nearest integer)

[Use R=8314 ] mol 'K~ 1]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819119527 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

293 K 60 €8 6AIRQ 9Q 2UQ4 QNI 21949ia 2.1 MPa § 1.3 MPa @ 4@ @@ Q124 oig

Q
4.3 MPa G086Q 4701018 9°CQ0d 902N | A9 JF4IER 621089 919 Y129 69R8
K mol~1| (Fecen gd a'¢ica 0846 74)
[€19816 @9 R=8314 ] mol " 1K™]
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 55 Question Id : 70819119528 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If a compound AB dissociates to the extent of 75% in an aqueous solution, the molality of the
solution which shows a 2.5 K rise in the boiling point of the solution is ~ molal.
(Rounded-off to the nearest integer)

K, =052 K kg mol !
b 8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819119528 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

28 9919 99468 9@ 6dE@ AB 75 0991 2¢ 9291908 €91 25 K 96915 @80 69¢ed9
699 QQ49 ERINIRT 69eR _6AIRIR) | (GReed g4 agica a8ae @9)

[K, =052 K kg mol 1]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 56 Question Id : 70819119529 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Copper reduces NDE into NO and ND2 depending upon the concentration of

HNO, in solution. (Assuming fixed [Cu?*] and Pyo= PNOEH, the HNO, concentration at

which the thermod}fnamic tendm\c}-‘ for reduction of ND; into NO and ND2 h copper is

same is 10" M. The value of 2x is . (Rounded-off to the nearest integer)

v . 0 = J | \ﬂ — ) | \D = 7
|Given, E‘Cuhﬂ:u 0.34 V, END;[ND 0.96 V, E?\IDU?\IOE 0.79 V and at 298 K,
RT

5 (2:309)=0059)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819119529 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

?98 NO,; § NO 46° NO, 65 351ad @39l @ @ HNO, 2948 Q199! 2968 B8 @felq
(dugm [Cu*] 8890 46° Pyn=Py,, ), 998 Q9 'Nog q NO <9 NO, @968 aigl
26cIeaifi] 998 cosedal HNO, @ age! 10° M @26 QiR | 2v @ ¢R 6968

(Beoeq gd Qeuen 08de @a)

- '. 0 i .‘0 . 1 'tn _n7 7
[QQR:EL 5, =034 V, By =0.96 V, ERo o =079 V and at 298 K,

g (2.303) =0.059]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819119530 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The rate constant of a reaction increases by five times on increase in temperature from 27°C
to 52°C. The value of activation energy in k] mol B i L (Rounded-off to the nearest
integer)

[R=8314] K1 mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819119530 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

27°C § 52°C @ 91gAIgI Q86a 1@ go7da 21a JaIs QI8 94 Q& d | A8a4d §96 AR K]
mol ! 60 6008

(Facen gd eguea odde a9)

[R=8314T K 1 mol ]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 58 Question Id : 70819119531 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, number of metal /s which can be used as electrodes in the photoelectric
cellis . (Integer answer)

(A) Li (B) Na (C) Rb (D) Cs
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819119531 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

GORYe F1ue 2GRN 6FQITR CRIFEH QAR IQ U8 Y9L6 60RYe IR QU 6008
I (gdeen eeq)

(A) Li (B) Na (C) Rb (D) Cs

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819119532 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The spin only magnetic moment of a divalent ion in aqueous solution (atomic number 29) is
__BM.

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819119532 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
_BM | (0R71659

L=2))

G190 Q9860 99 F6UIRT UG T8 G GG AIgd 699
Qe 29)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819119533 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of compound/s given below which contain/s —COOH groupis .
(Integer answer)

(A) Sulphanilic acid (B) Picric acid
(C) Aspirin (D)  Ascorbic acid
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 60 Question Id : 70819119533 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Geea 22119891 —COOH group 891 6d6ew @eyl 628
@a)

(A) dRUIFER 2e (B) deda 2

(C) 2Qdae &g (D) 2I9909Q 2

(9€ 2anea aen

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
Section Id : 708191842
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911122
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819119534 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 o .
If for the matrix, A = { 8 w, AAT=1, then the value of a? +p%is
x

Options :

70819163751, 4

70819163752,

2
70819163753. ~

70819163754,

Question Number : 61 Question Id : 70819119534 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L 1
ﬁ@ﬂga;xz[

L

0 - i g
Hwaa,awzgﬁﬁamﬁ|wa@wwam:

Options :

70819163751, 4

70819163752,

2
70819163753. ~

70819163754, °

Question Number : 62 Question Id : 70819119535 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Let A be a 3 %3 matrix with det(A)=4. Let R, denote the i" row of A. If a matrix B is
obtained by performing the operation R, — 2R, + 5R, on 2A, then det(B) is equal to :

Options :
70819163755, 1°

70819163756, 5V

70819163757, °4

¥
70819163758, 125

Question Number : 62 Question Id : 70819119535 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

16998 A ¥Q 3x3 AIEQ 9RIQ det (A)=4 | A6ReQ R, AIEQ A @ i 6f dIEq 950 Q68 | 4F
Q169 2A 2968 R, — 2R, +5R, 921204 629 B IF'Q {67, 6965 det (B) QIR :

Options :

70819163755, 1°

70819163756, 5V

70819163757, °4

¥
70819163758, 125

Question Number : 63 Question Id : 70819119536 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The following system of linear equations

2x + 3y +2z=9

3x+2y+2z=9

x—y+4z=38
Options :

70819163759. does not have any solution

70819163760. has a unique solution

70819163761. has infinitely many solutions

70819163762. has a solution («, 5, v) satisfying « 1 [5-""- | «Iﬁ =12

Question Number : 63 Question Id : 70819119536 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Q¢ Ao 9RAIe AMRE A72q

Xty +iz=9

3Ix+2y+2z=9

x—y+4z=38
Options :

70819163759, 6916@ Qaie @&

70819163760, 697 FIg 661G AFIIE 218

70819163761, 29I QaIe 212

20819163762, (e B, y) 69180 QARIQ 28 6LARE a+p2+y3=12

Question Number : 64 Question Id : 70819119537 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

vl
If I, = _[cot"x dx, then :
m
I
Options :
. . > in AP
d r are in L
20819163763, 2 T1la I3 t1s latlg
70819163764 L+ 1y, I3 +15 I, +1  are in AP,
.l - : in G.P
r r are in 5
20819163765, 12 1o s t1s Iyt
70819163766 IE l I-'lf {13 l IS]Er 1_1 | I,E'J are in G.P.

Question Number : 64 Question Id : 70819119537 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I
2

9@ I, = [cot"x dx, 6969

aT
4
Options:
1 1 l = = =
' : aqIan (968 ) cgaiea 283
70819163763, 2 T 1la I3 +15 1a +1e
70819163764, 2"l 13 115, [y + I @986 (960) cgaiea zas

1 1 1
I, +13 Iy +15" Ig +1g

70819163765.



L+, (+1)% I, + I g6dieq (966) 65

=]
L]
&
=]
e
23]
=)

70819163766.

Question Number : 65 Question Id : 70819119538 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X
, then the sum of the series

A function f(x) is given by f(x) =

5" +5
| ":r[] | "J[] | "J[] """" | ’)[]
is equal o :
Options :
29
=3
70819163767.
49
o
70819163768.
39
2
70819163769.
19
=y
70819163770. ~

Question Number : 65 Question Id : 70819119538 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X
6aI6Y  @Re  f(r) R fx)= —
5* +5

72101060 QAIQINE 606G

(1% i oy "3 -
f"E/J |f|&ﬁj |f|tﬁj -_— | | sga1sa faig o Qaie



Options :

70819163767.

70819163768.

e
[x.ll.{:

708191637609.

G
td|{;

70819163770.

Question Number : 66 Question Id : 70819119539 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

gl 0 3 2 - ayp — 2ag
Letaand 8 be therootsof x*— 6x~2=0. Ifa, =a" " forn = 1, then the value of ————
Jdg
1S
Options :

70819163771.

70819163772.

I~

70819163773.

70819163774.

Question Number : 66 Question Id : 70819119539 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i 3 ’ . = . R | 233

AG9Q0 12 6x ~2=0 GFIGAER T19GAQ o & B 190 2, =a"- B, (n > 1), 6960 1L
..ag
Q RN 268 :
Options :
70819163771, *
70819163772, °
2

70819163773,
70819163774, |

Question Number : 67 Question Id : 70819119540 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

8% 1-at

The minimum value of f(x)=a" +a , where a, x € R and a > (), is equal to :
Options :

70819163775, 2 ' 1

a1
70819163776.

70819163777.

2
70819163778.



Question Number : 67 Question Id : 70819119540 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f(x)=a"" +al~2", (a, xc R 98° a >0) @ QIFE G Q@G :

Options :
a+1
70819163775.
1
70819163776. "
2\a
70819163777.

2
70819163778.

Question Number : 68 Question Id : 70819119541 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i Cﬁ]vgi~ 2% 5,:-2]”5? 2y
The integral _[ o
oHoge:

dx, x >0, is equal to :
| 503](:&‘1 ?DZ]D&J.

(where c is a constant of integration)

Options :
log, | x2+5x—7|+¢
70819163779.

¥ A .
70819163780, 1108/ X" +5x 7t c

—

1
EIOB{, x2+5x 7|+ c
70819163781.

loge vx? + 5x
70819163782.



Question Number : 68 Question Id : 70819119541 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3log. 2x 2log, 2x

] o & F oe & 2 _

ARG [ dx, x> 0; @ A A
e DL%"J‘ | 50 (?‘Li._l :'?l:" l:Li":l'

(c ar1ee §aIs)

Options :

IDBF.IZ|5_I 7| +c
708191637709.

. 2 By T
70819163780, 1108el ¥~ 5x 7|+ ¢

1 i )

110&, x<+bx—7|+c
70819163781.

loge VX% +5x —7 +c
70819163782. :

Question Number : 69 Question Id : 70819119542 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a, p e R are such that 1-2i (here = ~1) is a root of z2+az +$ =0, then (a — f}) is equal
to:

Options :

70819163783,

70819163784.

70819163785, *



~1

70819163786.

Question Number : 69 Question Id : 70819119542 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

99 o, p e R Q199 Qg 223 690RQ 1-2, 22+az +B=0 Q 621G 919 (9)7) U6E, 6969
(a—Pp) QUG

(9oIga i2=-1)

Options :

70819163783, 2

70819163784.

-
£

70819163785.

|

70819163786.

Question Number : 70 Question Id : 70819119543 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the curve 12 2y3:2 intersects the line x +y=1 at two points P and Q, then the angle
subtended by the line segment PQ at the origin is :

Options :

b tan llfl]
4 )

SIER

70819163787.

70819163788.



2 4

T 1 |
— + tan | —
2 J

70819163789.
.__'_ £ %
2 \ 3‘,.-'

70819163790.

Question Number : 70 Question Id : 70819119543 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

90 22 +27=2 oR6ReIS x+y=1 60¢I5q 9aF 2 P 8 Q 06G 689 @68, 6969 PQ 6ad
QI8l 9999 0168 @gR 6RIAE 26e :
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Correct Marks : 4 Wrong Marks : 1
The shortest distance between the line x — y=1 and the curve x?>=2y is :

Options :
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Question Number : 72 Question Id : 70819119545 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2
A hyperbola passes through the foci of the ellipse L y— =1 and its transverse and

conjugate axes coincide with major and minor axes of the ellipse, respectively. If the product
of their eccentricities is one, then the equation of the hyperbola is :

Options :
9 V..
2 RN
70819163795, = 16
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Question Number : 73 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 70819119546 Question Type : MCQ Option Shuffling : Yes

A plane passes through the points A(1, 2, 3), B(2, 3, 1) and C(2, 4, 2). If O is the origin and

b
Pis (2, —1, 1), then the projection of OP on this plane is of length :

Options :
z
|
V3
70819163799.
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1
70819163800.
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; n n n :
im | — 4 | b i f —— | isequal to:

n—seln  (n+1)2  (n+2)32 (2n—1)?

Options:

1
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Question Number : 75 Question Id : 70819119548 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[n a group of 400 people, 160 are smokers and non-vegetarian; 100 are smokers and vegetarian
and the remaining 140 are non-smokers and vegetarian. Their chances of getting a particular
chest disorder are 35%, 20% and 10% respectively. A person is chosen from the group at
random and is found to be suffering from the chest disorder. The probability that the selected
person is a smoker and non-vegeltarian is :

Options :
bis

70819163807, >



70819163808.

B8R

708191638009.

14
70819163810. 4°

Question Number : 75 Question Id : 70819119548 Question Type : MCQ Option Shuffling : Yes
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Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Let A be a set of all 4-digit natural numbers whose exactly one digitis 7. Then the probability
that a randomly chosen element of A leaves remainder 2 when divided by 5 is :

Options:
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70819163811.

oM

70819163812.

70819163813, =7

122

29
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Question Number : 77 Question Id : 70819119550 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3
If0<x y<wand cosx + cosy — cos(x + y) = ';, then sinx + cosy is equal to :
Options :
2
2
70819163815.
B
z
70819163816.
1-43
70819163817, 2
.'l | \-"IE
70819163818, 2
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o 3
d9 0<x,y<w 99° cosx + cosy — cos(x +y) = ; 6U6Y sinx +cosy 4Flq :
Options :
1
2
70819163815.

70819163816.
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Question Number : 78 Question Id : 70819119551 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let x denote the total number of one-one functions from a set A with 3 elements to a set B
with 5 elements and y denote the total number of one-one functions from the set A to the
set A xB. Then:

Options :

Zy =01x
70819163819.

Yy = D7
70819163820, 2Y = 273x

y= Olx
70819163821.

y=273x
70819163822.
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: A

mwr{iml_l (5) 4 m.-_1| — |—‘ is equal to :
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 80 Question Id : 70819119553 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The contrapositive of the statement “If you will work, you will earn money” is :

Options:

70819163827, 10 earn money, you need to work

20819163828, You will earn money, if you will not work

20819163829. If you will not earn money, you will not work

If vou will earn money, vou will work
70819163830. - st
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A function f is defined on [ -3, 3] as

i

2
Jminlx,] 3 1=l=y=7

fix)= k) v 2=z =3

where [x] denotes the greatest integer = x. The number of points, where fis not differentiable
mi-33i. .
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[f the curve, y=y(x) represented by the solution of the differential equation
(2xy? ~ y)dx +xdy=0, passes through the intersection of the lines, 2x ~3y=1 and
3x +2y=38, then |y(1)| is equal to ____
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The total number of two digit numbers ‘n’, such that 3" + 7" is a multiple 0f 10,is
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If the curves x:y4 and xy=k cut at right angles, then (4k)® is equal to
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The value of _[ 3x% — 3x — 6|dx |- S

-2
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If the remainder when x is divided by 4 is 3, then the remainder when (2020 + x)**% is

divided by 8is
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F 4

If the co-ordinates of the point in the first octant on ‘I," at a distance of /17 from the point
of intersection of ‘' and l;" are (a, b, ¢), then 18(a+b+c) isequal to _____
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A line is a common tangent to the circle (x —3)>+1?=9 and the parabola y>=4x. If the two
points of contact (a, b) and (c, d) are distinct and lie in the first quadrant, then 2(a +c) is
equalto
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